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330K  VARIABLE RESISTOR
4-7x 10% RESISTOR
Ix 10% RESISTOR
4700 10°/e RESISTOR
33k 10% RESISTOR
33k 10%e RESISTOR
15k 10% RESISTOR
2200 10% RESISTOR
39k 10°% RESISTOR
1000 10% RESISTOR
13 10° RESISTOR
6-8k  10% RESISTOR
10K POTENTIOMETER
330Kk 10% RESISTOR
10k 10% RESISTOR
150N 10% RESISTOR
10K POTENTIOMETER
39k 10% RESISTOR
82k 10% RESISTOR
18K 10% RESISTOR
e 1f/e RESISTOR
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10K
330N
3300
(N3

1800 | WATT 10°/e RESISTOR
on 8wz
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10 K

20 100 PF
SED 106

SFD 106

400V POLYESTER CAPACITOR
MICA

CAPACITOR
MICA CAPACITOR
POLYESTER CAPACITOR
POLYESTER CAPACITOR

POLYESTER CAPACITOR

CERAMIC CAPACITOR

MICA CAPACITOR

POLYESTER CAPACITOR

MiCA CAPACITOR

POLYESTER  CAPACITOR
200V MOULDED CAPACITOR

POLYESTER CAPACITOR

POLYESTER  CAPACITOR
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FERRITE CORED CHOKE

VOLTAGE
Srrid , SELECT

NB - VOLTAGE SELECTOR

DISC & VOLTAGE

6V. OPERATION WANDCR LEAD MUST
BE SET CORRECTLY
AS SHOWN IN CIRCUIT

12v
OPERATION

WANDER
LEAD

SELECT

BUTTON CERAMIC
TRANSFORMER - TYPE 919

L210

CHOKE - TYPE 728
-TYPE 818
-TYPE 728
-TYPE 859
TRANSFORMER -TYPE 528
TRANSFORMER -TYPE 438

Gz} 3 GANG TUNING CAPACITOR 10-450 PF

TRIMMER

R
TRIMMER

1y

OLLECTOR
RED

BASE
GREEN

EMITTER BLACK

BAND COVERAGE _330-1620 xcfs

1F___FREQUENCY 455 xC

TOTAL BATTERY CURRENT AT 7V - O-85 AMP.
TOTAL BATTERY CURRENT AT 14v-0-85AMP

COLLECTOR CURRENT OF O/P STAGE = 400 MaA
A eV weur

COLLECTOR CURRENT OF o/v STAGE = 600 MA
AT 12v.INPUT -

FUSE  RATING

NOTE * ALL VOLTAGES CHECKED WITH

40,000 OPV. METER AT

ZERO  SIGNAL INPUT
DO NOT OPERATE SET WITHOUT '-'d
SPEAKER CONNECTED. =

(\V)
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